)

y

]

A
~
7

S

L
A

)

X

= /K B 1

I

~
~

(

y

15

i 5™ No.2 (IHPF9ATHE

1202

o 6 I”.l
_m__m o._d/ ._d/ ~
ot o wS el
S St % =
BEK #Hy R ¥
~4O RS T 8
AN 28 T ~
| D% U Ty o
th mda R H | &
[IRAL.Y H$8 LN xRy
ENY e Uy 18] AN
~ b3 e PR
RES B, o iR
BYITE MR (RN <5 .WEm
AU\ 4 i TN HE Do
N U AR D O Ll
£ NS B R es
I3 § RV [l 46 %0 ) BHBE o 4R
A - paqEIEN I — ik t-iE B
7 X INTES /S48 D QA
i P KO HIES V N<EAR
LS aFIN = WL 3¢ A HE
%E‘E:Io.. B4 m_._lw_m. Hv swgun.”uu_uﬁﬂﬁ __HI_‘__J_l_
39t 4 X Bl EL O=EH PERNL|
LY & FEBI 188 <N N vy
__m_ﬁ##n_-} E_m , s.#_s____m —~ E._mfhf_..m.ﬂl Ly I \\J%‘:}ﬁ%
ESR R B Hog W EeMIIS  MEdL e
SN BNEE i AeU D LS VR m
e o B 2 Bt fE millauel! | BRUL =
R IR BE R —~ KWE B NOKwv b =
(N of [H# , 6 |HEwsy WIWIJE 8
N’ o £ 8 8§ 8 88 8 8 @2 BRE V ORREERS SEXUUE
— 5 ~ 1 1 1 1 1 1 1 1 7@( IW léﬁm s+~n_ 7.__“____.%%%& n”
2 1 o0 0w o v o o o o MWMHEEM & wdXSKK A - EHEH o
O 1 - - & A& & F O O |EHE U NSRILH @R )
_M../ #exl B I £ S it N
ST TSI - = = =
1y ~ - \ XX X -

: 3. 8m
2 3. 9m
i : 5943

B
RN
BB

e

JE
g

P

A
A
i

\._'

800 1,000

10,000
600

1
400

r—r 1L Im
0 100 200

o

toTY

-MILFALE

F56%F) 1% HREE

X (1/10,000. AB

>

KEERBERIE. E=RELTIEHET (1/10,000, BBF154%5) | RUTFIFIETE

N
]

)

—





